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w
v

194 20 22 25 27 30 32339 38 40 42 45 47 50 52 55 57 60 62 65 67 70 m
1211610388 8 7 65 6 6 5653 49 46 43 4138137 343331 3 28t
3 » 19820 22 25 27 30 32348 38640 42 45 47 50 52 55 57 60 62 65m
12 11,8106 9,1 83 7.2 67 6 6 5754 5 48 44 42 3938 353432t
3 » 19820 22 25 27 30 32349 38740 42 45 47 50 52 55 57 60m
12 119106 91 8373 67 6 6 5855 5 48 44 42 4 38355t
3 - 206 22 25 27 30 32 35363 40342 45 47 50 52 55 m
1211195 8776 71 63 6 6 5753 5 47 44415t
3 > 21,722 25 27 30 32 35 37383 42445 47 50m ®
12 11,810,192 81 75 67 63 6 6 56 53495t 12 e
3 - 23125 27 30 32 35 37 40 42 45m - (75t
1211 10 88 82 73 68 62 6 6 1 gy
3 - 24725 27 30 32 35 37 40m (m)
12 11,810,8 9,5 88 7,9 7,4 67 t ——=w-075t
3 - 248 25 27 30 32 35m
12 11,910,8 9,6 89 7,95t
3 - 248 25 27 30m
12 11,9109 9,6 t
25> 19620 22 25 27 30 32344352 37 40 42 45 47 50 52 55 57 60 62 65 67 70 m
12 11,7105 9 82 7,266 6 6 5651 48 44 413836 33312927 2524225t
25> 19820 22 25 27 30 32 35 358 37 40 42 45 47 50 52 55 57 60 62 65m
12 11,9106 91 83 7,367 6 6 5852 49 45 4239 37 3432 3 28265t
25> 20 22 25 27 30 3235536437 40 42 45 47 50 52 55 57 60 m
1210792 847468 6 6 5953 5 4643 4 38353331t
25> 208 22 25 27 30 32 35 37 37,8 40 42 45 47 50 52 55m
211,297 88787264 6 6 5653 48 46 42 4 37t
25> 21,922 25 27 30 32 35 37389 39942 45 47 50 m (t) v o
12 11,910,494 83 76 68 64 6 6 56 52 49 45 t 12
25> 234 25 27 30 32 35 37 4045 42645 m 6 N r_—ozst
12 11,110,189 83 7.4 69 63 6 6 56t /)
25> 248 25 27 30 32 35 37 40m ——- 025t
12 11,910996 89 8 7,568 t '
25> 25 27 30 32 35m
12 1099,7 9 8,05t
25» 25 27 30m
12 11 97t
4600 - 4 200 - 3 400 - 2 300 kg 4200 - 700 kg
50 -75-100 LVF \ 50-75-100 LVF 150LCC
VAVAVAN
70m 18m 27 600 18m 26 600 25900
65m 18m 24900 18m 24500 23100
60 m 18m 23000 18m 23100 21700
55m 18'm 22 600 18m 22 400 21000
50 m 18m 20 700 18m 21000 18 900
45m 18m 18 000 18m 18 200 16 100
40m 18m 16 100 18m 16 100 14000
35m 12m 27 600 12m 26 600 25 900
30m 12m 20 700 12m 21000 18 900

H(m) | 693 66 61 56 51 46 41 36 31 26 21 16
i ()] 108 96 72 60 60 60 60 48 48 48 48 48
H(m) | 504 471 421 371 321 271 221 171 121
i ()] 90 90 90 90 90 90 90 90 90

1559m [ |
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959m L .

60,9 m

49m
84 m
114m
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Chh-pPS KW
m/min  2,4— 9,6— 30 = 38— 54— 78 12— 48—15—19 — 27 — 39
t 6 6 6 45 3 15 12 12 12 9 6 3
m/min 0 - 44-—>5—80—114 0 - 22— 28— 40 — 57

50 37 340 m

75 55 570m
t 6 45 3 15 12 g
mmn 0 = 54— 68— 9%6—142 0 — 27— 3487 e
t 6 45 3 15 12 i G

m/min 86 — 103 — 129 — 172 — 206 43 = 52 — 65 — 86 — 103
t 6 4,5 3 1,5 075 12 9 6 3 1,5

150 110 652 m

m/min 0—50(12t) 0— 1006t 0— 120(31) 5,9 4
tr/min

U/min 0—0,7 2x75 2x55
rpm

m/min 15-30 4x5 4x37
m/min 13,5-27 4x7 4x52

50 LVF: 75 kVA

400V % -109 H 75 LVF : 100 KVA
00V (+6% -10%) 50 Hz 100 LVF - 125 KVA 2000/14

150 LCC : 175 kVA

50 LVF 30 Optima 75 LVF 30 Optima m/mn 100 LVF 30 Optima
142
y N £25% 4 +25%
m/mn 0
54 - 54
30 :
15 3 6 t 15 3 6 t 15 3 6 t
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